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Now we must determine the rotor current limit. The per-unit power supplied to the
motor is 10 MW /16.5 MW = 0.623. The maximum EA is 5067 V or 1.33 pu, so
with EA set to maximum and the motor consuming 10 MW, the torque angle
(ignoring armature resistance) is

Bay gio, chdng ta phai xac dinh gidi han dong rotor (dong rotor gigi han). Cong
suit tuong ddi cap cho dong co 1a 10 MW /16.5 MW = 0.623. EA cuc dai 1a 5067
V hoéc 1.33 pu, vi vay khi chon EA cuc dai va su tiéu thu nang lugng cta dong co
la 10 MW, g6c md men (b6 qua dién trg phan tng) la

At rated voltage and 10 MW of power supplied, the armature current will be

Tai dién 4p dinh muc (dién ap danh dinh) va cong suat cap 10 MW, dong dién
phan ung sé la

In actual amps, this current is
Trong cac bo khuéch dai thuc té, dong nay sé& 1a

The reactive power supplied at the conditions of maximum EA and 10 MW power
IS

Cong suat phan khang duogc cip tai didu kién EA cuc dai va cong suat 10 MW Ia

Therefore, the field current limit occurs before the stator current limit for these
conditions, and the maximum reactive power that the motor can supply is 3.68
MVAR under these conditions.

Do d6, trong nhiing diéu kién nay, dong dién kich thich giéi han xuét hién truéc
dong stator gigi han, va cong suat phan khang cuc dai ma dong co ¢d thé cung cap
la 3.68 MVAR.

(d) Atrated conditions, the field circuit consumes



Tai cac diéu kién danh dinh (diéu kién dinh mic) , mach tao truong tiéu ton
(e)  The efficiency of this motor at full load is

Hiéu suat cua dong co nay trong diéu kién tai day du la

() The output torgue in SI and English units is

M6-men dau ra theo hé don vi Sl va cac hé don vi Anh la

A 440-V three-phase Y-connected synchronous motor has a synchronous reactance
of 1.5 Q per phase. The field current has been adjusted so that the torque angle 8 is
28° when the power supplied by the generator is 90 kW.

Pong co ddng bd ba pha dau kiéu Y 440 V c¢6 tro khang dong bo 1a 1.5 Q/pha.
Dong kich thich duoc diéu chinh sao cho gbc md men ...1a 28° khi cong suét cung
CAp cliia may phat dién 1a 90 kW.

(@ What is the magnitude of the internal generated voltage E A in this machine?
Do 16n dién ap duoc tao ra bén trong EA caa may nay bang bao nhiéu?

(b) What are the magnitude and angle of the armature current in the machine?
What is the motor’s power factor?

Po 16n va goc cua dong dién phan ang trong may bang bao nhiéu? Cho biét hé sb
cdng suat cua dong co?

(c) If the field current remains constant, what is the absolute maximum power
this motor could supply?

Néu dong kich thich dugc giit khong doi, tinh céng suat cuc dai tuyét ddi ma dong
co ndy c6 thé cap?

(@ The power supplied to the motor is 90 kW. This power is give by the
equation



Gia sir cong suat cip cho dong co 1a 90 kW. Cong suit nay duoc biéu dign bang
phuong trinh





